CASBEE-2 F(F1 520165 hix
(e #) BFHHILST BEHE HETE

[ |memistEaiorgRA mEpEy k-

WEAFf~v=17/L CASBEE-E & (#5£)20164R
CASBEE-BD_NC_2016(v3.0)

EEIER Eﬁmlﬁ?&ﬁ'@m;ﬁlm Eednifoy E %g{‘ ST & E %g{‘ ﬁ‘*
Q BEYMORELE 2.8
Q1 EREIT 0.40 = 3.0
1 BRI 3.5 0.15 2.8 1.00 3.1
1.1 ERESLAL 3.0 0.40 3.0 0.40
12 EZ 44 0.40 3.5 0.40
1 |FAOERESERE RO&RESaET-200 . 5.0 0.40 5.0 0.30
2 |RENEEMRE % (2):Dr-46 4.0 0.60 2.0 0.30
3 [ARESMHEGEEFEER) |4 = 4.0 0.20
4 |REKESMHE(EEEHER 2 3.0 0.20
1.3 & 3.0 0.20 1.0 0.20
2 RERIE 2.0 0.35 2.6 1.00 2.3
2.1 EiRHE 3.0 0.50 3.0 0.50
1 |=ER 3.0 0.38 3.0 0.57
2 | EMERE 3.0 0.25 3.0 0.43
3 |V—>BislEE 30 | o3s ] -
2.2 JREHE 1.0 0.20 1.0 0.20
2.3 ZFHAR 1.0 0.30 3.0 0.30
3 K-RRE 2.5 0.25 3.6 1.00 3.1
3.1 BXFIA 2.4 0.30 4.2 0.30
I EEES 1.25% =< [RIEK] 2.0 0.60 5.0 0.60
2 |[AfrRIBEO - .
3 [BAFIARME 3.0 0.40 3.0 0.40
32 JL7HR%K 2.0 0.30 4.0 0.30
[ 1 [Bsim H—TUL—IVERSUAETILTEFIEL TS, 2.0 1.00 4.0 1.00
3.3 B 3.0 0.15 3.0 0.15
3.4 EREAHHE 3.0 0.25 3.0 0.25
4 ERERE 3.9 0.25 3.8 1.00 3.8
41 EERXE 4.0 0.50 4.0 0.63
[ 1 [exszns JIS - JASHRIE DF % # # # £ IR IFLEMICIZAL TS, 4.0 1.00 4.0 1.00
42 @& 3.0 0.30 3.6 0.38
1 |B5=E 3.0 0.50 3.0 0.33
2 |BARS R BABRSEMHOEE,BEREED/10L L, R 5.0 0.33
3 [BYANSNTRA~ADEE 3.0 0.50 3.0 0.33
43 EFAEHE 50 ! 0.20 =
1 |CO,MEER . B
2 @'@o)ﬁufﬁ] EL2EDOREEIERIN TS, 5.0 1.00 . N
Q2 H—ERMERE — 1 030 - - 2.8
1 #EEE 2.4 0.40 3.8 1.00 3.1
1.1 BEe-FELpg S 3.0 0.40 5.0 0.60
1 |[GE- It EZ10m/EKT. M DOBKRESM/EKLLE, - 5.0 1.00
2 |SERHREERERG - 2
3 |N\YFI)—EtE 3.0 1.00 =
1.2 DEM-REHE 1.0 | 0.30 20 | 040
1 |GERk-58 = 3.0 0.50
2 [Ty arRR—R - .
3 |RMEEE 1.0 1.00 1.0 0.50
1.3 #HIFEE 3.0 0.30 s
1 |MBEHRICERELZERET 3.0 0.50 =
2 |#MBTERBEOER 3.0 0.50 5
2 A EE 2.9 0.30 . 2.9
2.1 ME-RE-HE-Hik 3.0 0.50 5
1 |MEEEHDOIHHIZ) 3.0 0.80 .
2 |RE-HIE- SRS 3.0 0.20 5
2.2 & - OMAER 2.8 0.30 =
1| BAEH O AERK 3.0 0.20 5
2 [SELEETFHOBIELERR 2.0 0.20 .
3 |EERELELFHOEHHERRE 3.0 0.10 -
4 |ZERB/EFIFDEHLERRR 3.0 0.10 .
5 |Z=H-HBHKEEDEFVERR 3.0 0.20 =
6 |EERERFOFHFVLERR 3.0 0.20 =
24 {58 3.0 0.20 5
1 |ZEER- R e 3.0 0.20 =
2 |#EHEK-EERE 3.0 0.20 =
3 |EBxEE 3.0 0.20 =
4 |HH-EREXRAE 3.0 0.20 5
5 [B{E-1EmaxiE 3.0 0.20 =

1/2




3 RGHE-EHH 2.7 0.30 2.4 1.00 2.5

3.1 EnwLy 1.8 0.30 1.8 0.50
1 |BEEowLy 1.0 0.60 1.0 0.60
2 |ZEHoRK-BHS 3.0 0.40 3.0 0.40

3.2 RIEQOWLY 3.0 0.30 3.0 0.50

3.3 ERiEDEFHM 3.2 0.40 =
1 |ZEREREOEHM 3.0 0.20 5
2 |[MBHKEOEHHE 3.0 0.20 .

BREBINEENES VI LICEBEShFETOT, £ LEHMEREDHSS

3 |EREROEHE LK B AT UANTEET, 50 | o010 :
4 |BIERBOEFME 3.0 0.10 5
5 |[EiEEFOEHME 3.0 0.20 =
6 [/\VHITYVTAR—Z DR 3.0 0.20 .

Q3 =S IEBIE (BuA) — 0.30 - 5 2.5
1 EPBREOELLEIH 2.0 0.30 . 2.0
2 FohH-RBADORE 3.0 0.40 = 3.0
3 gt - P A=TA~DEE 2.5 0.30 5 2.5

3.1 g~ DEE. Etom L 2.0 0.50 =
3.2 Bt R EVRIE DM L 3.0 0.50 S

LR EFEMOREEFEREMYE

LR1 ITRJLF¥— - 0.40 - - 2.9
1 @5 EOSAaR I BPIm=0.72, 5.0 0.20 - 5.0
2 BRIRILF—FIA 3.0 0.10 . 3.0
3 BIEATLOESIEE [BEN[BEIm]: 098 .LEDHBBASRBEZEA, 2.1 0.50 . 2.1
4 ShERKER 3.0 0.20 5 3.0

£ E5FEELUN DT 3.0 1.00 =
41 |E=HYLG 3.0 0.50 s
4.2 |EREEA 3.0 0.50 =
EEEEDFE B B
IR EE=0PZi = s
_ | 42 [BREEAG - -
LR2 ER-<TU7I — 0.30 - b - 2.7
1 KERRE 3.4 0.20 . 3.4
1.1 &K HAKIVAEEIZIZ T, EIKEERLFEALTNS, 4.0 0.40 o
1.2 FKFA-#EHKEDFA 3.0 0.60 5
1 |RAKFASATLEADEE 3.0 0.70 =
2 |MHKEFEFACATLEADEE 3.0 0.30 =
2 FEEMEROMERAEHEIR 2.4 0.60 B 2.4
2.1 HRERE0HIE 2.0 0.10 =
22 BEEERAREOMGER 3.0 0.20 .
2.3 BEMBIZE TRV AIILHOER |- 3.0 0.20 5
2.4 BEMHELUNZBITRIHAOLHOER]— 1.0 0.20 =
2.5 FEAEEARMOSEHINIZAHM 2.0 0.10 5
2.6 BHMOBFFIAATEEMEMR E~NDEFEA 3.0 0.20 =
3 EEMmESEHHOERER 3.3 0.20 5 3.3
31 EEYEZEFLEVMHEOER 3.0 0.30 =
3.2 7Oy -, \O O [E%E 3.5 0.70 s
1 HAH - - =
2 | ®aFl (BEHME) ODP=0, GWP=110 $;a #|% FL =¥ 2441 242 . 4.0 0.50 5
_ 3 |4 30 | 050 -

LR3 Byith s IR E — 0.30 = - 2.9
1 HhERRERIE~DEE 3.0 0.33 = 3.0
2 igRIE~ DR 2.8 0.33 5 2.8

21 KXUBERLE 3.0 0.25 =
22 RRREELOHRE 3.0 0.50 5
2.3 g1/ 75 ~D AR 2.5 0.25 =
1 |FkEKARFER 3.0 0.25 =
2 |i5KEE T 3.0 0.25 =
3 |REERHIHI 3.0 0.25 5
4 |BEEYLES RG] 1.0 0.25 =
3 ABRE~DRE 3.0 0.33 5 3.0
31 BE-RE-EROMHL 3.0 0.40 =
1 |BE 3.0 1.00 =
2 |iIRE - - -
3 |ER - = 2
3.2 AE. WE. HREZOMH 3.0 0.40 =
1 |RE 3.0 0.70 5
2 [BEOIMEH -
3 |BEEEOME 3.0 0.30 5
3.3 XE 3.0 0.20 =
1 BARARVERREADSLNH RN A~ E 3.0 0.70 -
2 |BAROBMABRICIDZRHAK (TLT)~OFE 3.0 0.30 -

2/2



